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02. | The relationship between words like duck and luck or bring
and sing is that they

A. chime
B. agree
C. rhyme
D. oppose

03. —

Lecture 01

No. Question Answer

sonnets
novels:
"It is a truth universally acknowledged that a single
man in possession of a good fortune, must be in 07
want of a wife." is the famous opening sentence of
Pride and Prejudice novel.

rhyme

Rhyme: is a repetition of similar sounds

in two or more words, most often at

the end of lines in poems and songs.

metaphor

Metaphor: is comparing one thing with

something else. rhyme:
e Shakespeare (Sonnet 18) = (ABAB CDCD EFEF GG) 01
e Andrew Marvell (Garden) = (AABB) 02
e  William Wordsworth (The Daffodils) = (ABABCC) | 05
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05.

Question

Lecture 02

Answer
an island

politician

novelist:
e Jane Austen
e Charles Dickens
e Edward Morgan Forster
e James Joyce

06.

Question

Lecture 03

Answer
stable

revolutionary:
Many of the movements in Europe led to revolution
but in Britain.
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B.
C.
D. consumption

Question

What is the 'sole end and purpose of production'?
A.

waste
meetings
cuisine

reason

the Civil War

Lecture 04

Answer
the Wealth of Nations

consumption

Other options

Lec.#

Economics:
Adam Smith: Father of Modern Economics.
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Adam Smith was:
A. an economist
B. apoet
C. acommunist
D. asociologist

freely

an economist

a poet: 01
01. William Shakespeare 02
02. Andrew Marvell (metaphysical poet) 05
03. William Wordsworth (Romantic poet) 06
04. William Blake 13
05. James Joyce 14
06. Siegfried Sassoon 14
07. Wilfred Owen 14
08. Rupert Brooke

a sociologist: 04

Adam Ferguson: Father of Modern Sociology.

14.

Question

poet

Lecture 05
Answer

painter:
e William Blake 82
e John Constable 07
e Thomas Gainsborough 07
e Sir Joshua Reynolds

playwright: 01

William Shakespeare
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flower

the joy of being alone

Samuel Taylor Coleridge
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Lecture 06

Question Answer

an artist

an actor:
18. William Shakespeare 01
William Blake was both a poet and:
A. apriest
B. an artist
C. anactor
D. asinger
poor
19.
""" the industrial revolution | the French revolution: | |
A Tale of Two Cities 08

20.
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Question

Lecture 07

Answer
Georgian

Bennett

love and marriage

Elizabethan:
e Shakespeare was born in the Elizabethan
period.
e Called a (golden age)

01

Victorian:

Charles Dickens: the greatest novelist of the
Victorian period and his name is used to describe
the period.

Darcy:
The main male character in 'Pride and Prejudice'

07
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24.

26.

Question

Charles Dickens had a upbringing:
A. happy
B. easy
C. rich
D. difficult

Charles Dickens wrote a lot about the London:

A. poor

B. police

C. fashions
D. drainage

Lecture 08

Answer
difficult

The French Revolution

Other options

The English Civil War:
Andrew Marvell: A Garden.

The 1st World War:
Rupert Brooke: The Soldier
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London and Paris

27.

Lecture 09

Question

happiness

28. | People have rights including the right to life, liberty and the

pursuit of
A. fun
B. money
C. knowledge
. happiness ~{

President Prime Minister:

The Anglo-Irish: This group produced many
influential politicians, prime ministers and military
commanders.
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equal rich:

George Washington 09
poor:
- 01
e  William Shakespeare 06
e William Blake: died very poor 08
30. . . . e Charles Dickens
"All men are created " is an important phrase in the 10

. e Abraham Lincoln
Declaration of Independence:

A. equal
B. rich
C. poor

D. different

Lecture 10

No. Question Answer

87 years ago

31.

The American War of Independence
e called: The American Revolutionary War
e main causes: taxation

32. 09

civil war
war of independence:
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33.

people

Politicians:
Andrew Marvell

02

No.

34.

35.

36.

Question

The British Empire covered what proportion of the world?
A. all

B. 1/2

C. 1/4

D. 1/10

Lecture 11

Answer
1947

1789:
The French Revolution

1984.
A Passage to India novel: turned into a film in 1984

1/2:
up to half the population of Ireland was killed in the
English Civil War.
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colonialism

capitalism:

is an economic system in which trade, industry and
the means of production are controlled by private
owners.

04

Lecture 12

cruel

racist
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41.

42.

Question

James Joyce is associated with which literary movement?
A. transcendentalism
B. communism
C. modernism
D. romanticism

Congo

Lecture 13

Answer
modernism

Homer's Odyssey

romanticism:
e William Wordsworth
e William Blake
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Dublin

Glasgow:
An 18™ Century movement of thought within

Question

Scotland's ancient Universities: Glasgow, Edinburgh o4
and Aberdeen.
[politicians | T
phi p :
hiloso 'hers 13
Modernism
Lecture 14

Answer
happy and blessed

trenches
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decline

he died
48.

Lecture ?

No. Question Answer

east
50. ald
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